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This is my humble request, for God sake, the 

Government should sit down for one week to 

frame the future plan and resolve the issues.  
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According to the provision of the Punjab Sugar 

Factories Control Act 1950. Crushing season of 

the Sugar cane commences from on the 1st 
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October any year and the occupier of the factory 

shall start crushing of sugar cane by a day not 

later than 30th November each year. The 

provisions of the relevant sections are 

reproduced below... 
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µ � �c� 	 � �c� ���
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�
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�
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�
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�
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���®�

�
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�
��v� '��M� ��� ��������1�$��� �

�
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�
1� � ��
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�
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}� �g� �&�� �}� 	³� � � ��

 � dÎ�
�
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� �G � ��9����
�
1� ��� �5������8� �&��� �1�$���� �c� �� �

�
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�
�� � dÎ�

�
���9 

male dominant � dÎ��&� �r� � dÎ�B��� �̂YÓd O � � �7� �c��
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	� � ���&� �r�����
� <Ù�� � dÎ�� � �v � ��� �

�
1� �Ï��� �9�?�� �¿� �1�$��
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�
Ì�� d{�E�
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�
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�
H��gender discrimination�

�
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�
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dÏ� �5� �n� ����

 �̀ ��� d{�� �X�� '�� �
�

�� �̀ � �>� ���1�xopen merit� � ��� de 
	
dÏ� �5��ß�

� �o�!"�� �H� �1�$���J���1���×�£Z��� d{� �Q�$�� �t�� �2��
�
�

¬�×� �·�>� �.�� �>exclusively for females d{� ��� de� �|�1 
�
��&�

�
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 �È� �É� �̀ � � d{� ��� de� � �t� à�W
� £©Å� &� �S�

�
Ù���9� �>��8 

	
´�� � ��� de� � � �y� �Õ�� 

	
dÏ� �5�=� ß�¶����� � �Ñ 
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�
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�
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dÏ� �5 �/�Á� � �K�T ��	 �$�8�
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�
�
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�
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� ��� �
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�v� �K�9� ����� �7�� �
�
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�£³��>���� d{ 

µ � �c� 	 � �c� ���
� �o� �<�� ���

�
1�$�� �̧!  

µ �<� � ���
�
1�$��»��� �ß� '�� �� d{�
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��� �ª�?�� ��� ��¼ � �c� 	 � �c� ���

� �o2006� dø�1� � �5�=� ������
	

�x� �c  

� dÖ�&� �� �1�$��� d{emancipation� � dÎ�
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discriminatory law under the constitution 
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�
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�
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�
��=� �)�*�?�1� d¹�� d{�

�
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â� �xopen merit �>concept��$� d{� � �7based on 
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� <²� ò� d{ open dø� �Äì°³��>���s

	
�� '��v� '����$� d{��

� �a�� �7��� d{� �̀ 

µ � �c� 	 � �c� ���
� �o��� �K�9�V�9� �È�

�
� �=� �&��� � dÎ�B��� �̂YÓd O �8� ��� '�� � �7� �c�&�

�
�� �r �9¼ �/�Á�� �

�
F��

�� ���&�d��$H
� £�Y|��

�
1� �Ï��� �9� � �
�
n� ��÷ � dÎ 

µ �<� � ���
�
1�$��x��� � dÎ� �

�
1�
: �,���K��� �$�9� �̀ �&� de� � � �� �9� ����� �7� �>����� �c¼ � �c� 	 � �c� ���

� �oM� �&�� � ���>
 �cadmit 

�
�� �/�Á�

� � :�� � �7� � : �,��� ���@�$�9� �1�$��� d{� � ��� deraise����� �c� �1�$��� d{� � � ���g ���� ��$� d{� � �t
V�1� d¹� � �

�
ä���

�
7��&� de�� ���g�ã� �

�

 ��MBHU's���RHC's� �

: �,����� �l� �Õ��� �̀ � �
�

ä� �5� �
�

��&� �S� �c
 d{ � �7��� d{� �̀ �

:
��1���

�
»�?� ���Admission Policy�

�
�� � �K� �«� �c� ���1�x� �n� ��� � d{

 �Õ���
�
��������

	
�� �5�����9� ��� � �Û�g��x� � �K�������&� de����^B� ��

�
� �c�� d{�� �t� �

�
� ��discrimination 

 � �
�

ä���
�
7�?�1� d¹��� d{� �

: �,��� ���@�$�9� �7�� d{� � �t�
� �
â� �x job  � �7�?�1� d¹� ���� �

�
ä�g� �

�
��&� �Sfemale 

� �S���$� � dÎ� �
�
t � ���& �

�
�fill �x� ��� '�� �c�� ��������

�
�� �

�
ä� deup date&� de�� � dA� �5�� � �� �9and this can 

be verified �c��� �7� � dÎ�J���»�$� ���J�1� � �
�1� � � �Ë �Q
� <ì� ^ dO �8�� �

�
F� � � �Ý � � �7���d��1� �g� �

�
�� ������ dø� �ß�$

 �"�����
�
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�
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�
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�
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�
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�
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�
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�
ä� �5� �

�
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discriminatory law�
�
��
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�
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µ � �K�T ��	 �$�8�
� � :� �Õ��� � dÎ� �

�
ä���� �$�9�¬�×� ����� ��� �s�&� de� �5� � ���g�

�
¾�M� ������ �Õ��� �c¼� � �m� ���
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�
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�
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�
ô�1�ß�¶�+���

�
��&�x� �ä� �»��� �1�$��� � de� � � �Û ���� �>�B�"���9�Ð� �
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�
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´��$� � �s�&� de� �5� � ���g�

�
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MR. CHAIRMAN: Now we tak up the University of Arid 

Agriculture Rawalpindi (Amendment) Bill 2004 (Bill No. 12 of 2004)  
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� � :�� �c� �É�&� de�� � dA� �5�� ���g�

: � �u� �c� �)� �z:  
The word instrument is defined as a document by 

which any right or liability is or purports to be 

created, transferred, limited, extended, extinguished 

or recorded as laid down under sub section 14 of 

section 2 of the Stamp Act 1899.  
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MRS ZILLA HUMA USMAN: Mr. Chairman! My point of 

order is about Panel of Chairmen. Sir this is the fourth time in 

the Punjab Assembly that a female name is added in the Panel 

of Chairmen and this time the name is from opposition benches. 

This is a very good and healthy sign. Sir, I want to ask why this 

name is always added at the end of the list. Why not at the top 

of the list? 
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µ��
� �
ª��� �Î�$�� �s�� �Ï��� �9���&� de�� ���g�

: � �u��9���9��1���
�
(� �̀ � �c :  

BB�8� �
�
ã �1�Ð�M������1�$��� � � �p�����1����~� �1�"� �)�*��� d{�

	
����1�=� �&��� �� ������

�
�
��¦�&�g� �� � �

�
¥ � �� �9�|� �x� ��� � �Û�

�
��=� ���+� '��F�1�

�
1� �1�$��� ������$�9���

:
��J50� �

�
ó 

V�9� � �Ó �O�1�DD 

µ � �c� 	 � �c� ���
� �o�� d{�

	
Ú�=�

: � �u��9���9��1���
�
(� �̀µ 

BB�8� �
�
ã �1�Ð�M������1�$��� � � �p�����1����~� �1�"� �)�*��� d{�

	
����1�=� �&��� �� ������

�
�
��¦�&� ��� � �Û�

�
��=� ���+� '��F�1�

�
1� �1�$��� ������$�9���

:
��J�g� �� � �

�
¥ � �� �9�|� �x50� �

�
ó 

V�9� � �Ó �O�1�DD 

 
�

��"�<_�1����µ �� �� �1�

�
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���� ���?�

�
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�
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�
Ö� �
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 ��� �

�
�� d{��

�
Ö�ý� £ì� Z�1�

	

�x� �Â�1�

�
9�8��9���9��1���

�
(������x�&�

�
��¦�V�1� d¹��»�� 

	
dÏ� �5���1���$� � �v�?�1� d¹��� ��

 ��� �S� �R� �_� ���M� �̀ ��� �
�
��� ���

�
1�$� ��� '���I �� de�

�¾� �Á��� �c�� d{�» ����>� �̀ ��� �
�
��6� �̀  

 � �c� 	 � �c� ���
� �oµM�¬�¶�3��9���9� �1���

�
(� �̀oppose������x� ��� '�¼ �/�Á� �̀ ��� �

�
��� ���

�
1�$��

	
Ú�=� �

�
�

÷� d{�
�
¾���

�
<���

	

�x� ��  

µ� �̀ ��� �
�
��� ���

�
1�$ �̧���� ���g� �

�
�� �

�
ñ �

�
��=����� �c   

µ � �c� 	 � �c� ���
� �o�� d{� �̀ �B���,��1�$��� d{�

	
Ú�=�

: � �u��9���9��1���
�
(� �̀ :  

BB �
�
ã �1�Ð�M������1�$��� � � �p�����1����~� �1�"� �)�*��� d{�

	
����1�=� �&��� �� �������8�

�
�
��¦�&� ��� � �Û�

�
��=� ���+� '��F�1�

�
1� �1�$��� ������$�9���

:
��J�g� �� � �

�¥ � �� �9�|� �x50� �
�
ó 

V�9� � �Ó �O�1�DD 

- 
	

� de��1�

Æ �
Ò�� ����1�û�!�ñ

�£³��9���9��1���
�
(. 

µ� �ø��Â��
:
Í�1��� ���

� �o��1��9�1� '��¬� '�� � � 	­��� ��  

µ � �c� 	 � �c� ���
� �o� 

: � �u��9���9� �1���
�
(�
� �~��� ��� '�� �/�Á�� �ø� �̧ �� d{�=� �/�Á�� �ø� �9�Â� �

:
Í�1��� �9���9� �1���

�
(���g���

� �K�g  

 ���
� �o�µ� � �ø��9�Â��

:
Í�1��� � ���g� ������ � ��� �1�

�9�1� '��¬� '�� � � 	­��� ��� �c� ���M�
�
��� ��� �9���9�1���

�
(¼ � �c� 	 � �c � ���

� �o
���

�
É�

	
����1�?� ���

� �
L�8�!� ^Ù�Á�� ���

� �Û� �̀ ���
�
1�
�
(�� �Ï��� �9¼�+���$� ���

� �o�&� de� � dA� �5 

µ � �c� 	 � �c� ���
� �o��� Y+�� ����9���9��1���

�
(�
� �~��� ��� '��� � dÎ� ���� ��?� �����$ No point of order.  

  

��x� ����
� ��� �����
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� �&��� �� ����

�
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�
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� �§� � �u�¬� '� 
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: X� Yºá� £

� ¤
�
�
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�
���5�

	
þ��1�

�
¹ ���v��>�

�
��g�?�1  

µ�� �ø��9�Â��
:
Í�1��� ���

� �o� �̧���
� �a���&� de�� ���g�

: � �u��9���9��1���
�
(� �̀ � �c :  

BB?�1��� �z�
�
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�
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����
��� d{�

	
����1�=� �&��� �� ������ 
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�
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�
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�
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�
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µ � �c� 	 � �c� ���
� �o� �K�9�

�
�_�� �
�
�̈�x��9���9��1���

�
(����� ��� ��¼ �/�Á� �Q���1  

µ�1�R���
�

��"�<_�1�����$� �&�

�
��
�
H�� ���
�
1�$��&� de�� � dA� �5�� ���g� ������ �c�£�+��� �c¼�+���$� ���

� �o  

µ � �c� 	 � �c� ���
� �o �̧�� �

	
ä�w�

�
(¼  

���� �$� �&�
�
��
�
H�� ���
�
1�$µ�1�R���

�

��"�<_�1� ���

� �o¼�� �ß� '���� d{�=�
:
��1���

�
»� �̀ �M� �/�Á�� �ø��

:
Í�1���J�

�
Ü�

�
�� �c

 
�
C��� �����M� ���M� �x� �

� �m�1���
�
�� dÖ� � ��� ���� �1�$���

�
É�

	

� '�� �9���9� �1���

�
(� �Õ���M�¬�¶� = 

initiate� � dÎ
�
dÏ� �5� � ���g� �

�
� � �̀ � dÖ� �� �

�
�� � �tso decision����� 8� �/�Á� �q��� � ���

�
1�$ 

pendingM� �y�1��
�
1��ú� �c�� d{ �x��������

�
�� � dA� �5�� ���g� �È���

�
7�1�9� �̀ �pending� �c�� �R��w�

�
(

 �
�

�� � �
:

/ � �/�Á��q��� � ���
�
1�$� �c�£�������&� de�� �µ�t�M� � �

� ��� � ��� � dÎ�����$�
�
��g�?� �C

� d{��O� �s��  

µ � �c� 	 � �c� ���
� �o����� � ���8�

�

�d��9� � �

� ���=� �/�Á� ���1� : �;� �Q���1� �c�B� �
�
o�V� ��¼ �/�Á� � �ø

�xpending�� � �� �9��g 
	
dÏ� �5�  

µ� �ø� �9�Â� �
:
Í�1��� ���

� �o� � ���g� �
�

�� �
�
�� � �

� ��� � dÎ�
	

� ���J�

�
Ü�V�� ���V�1� d¹� �/�Á� �Q���1 

	
dÏ� �5�� � �Ñ

�
�
Í���&�x��������� �̂ d{�

	

���$�g�

�

�d��9� � �

� ���
�
� pending�&�$�g� �È���

�
7�1�9�M� �&��� �c� � �Ñ� �K�9��w�

�
(

 �����+������s��
	
�� �5�� �ô����$�g� �

�
���>����� �c  

µ � �c� 	 � �c� ���
� �o=� �/�Á� �Q���1�� d{� �

�
Þ� 

� �
� �>�x��9���9��1���

�
(������ ���

�

�d��9�pending� d{�� �� � �5�� �t   

  

 �1��9�1� '��¬� '�� � � 	­��� ��  
�
�
��g�&��

�}� �2�êZ� ����1�$��� �
: �-�g� �c�B��� �̂YÓd O �J���1��×�£Z  

 ���v��>�
	

���$�1�1�>�¬�

�
��8�&�����$ 

µ� �
�
ê��� d����N�

�
Ü��1��9�1� '��¬� '�� � � 	­��� �� 

µ � �c� 	 � �c� ���
� �o �̧�� �

	
ä�w�

�
(�N�

�
Ü ! 

µ�� �
�
ê ��� d����N�

�
Ü� ���

�
1�$� �c¼ � �c� 	 � �c� ���

� �o�
�R�¬��&�&� de� �5� �Q�
�
��= 

µ � �c� 	 � �c� ���
� �o� �

�
t �M��1�

�
V� ������=�N�

�
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�
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µ� �
�
ê� �� d����N�

�
Ü�= ���$�1�&�$� �1�$�g�M�����7�8�?� 

� ¡�^
:X³� �c�B��� �̂YÓd O � J���1� ��×�£Z¼�+���$� ���

� �o
 �
: �-�g�� �1�$��� d{�

	

� de150�

�
�� �/�Á��q��� � ���

�
1�$� � ������� � � dÎ� �

	
) � =�&��

�}� �2�êZ� ��� =�&����
� '�� �>�?�

	
����

�
L ���?�

�
�� ���

�
��&�

�
Í��� � dÎ� �

�
Ä� ���8������� � �7�?�;�9� �7� � �Ï��� � �

�
¥�$� ��� � �Ñ� �

�
�����9� �1�

�9�1
=��������É�

�©� �x� �<�� ���
�
1�$� �c�� d{� �

�
�� ���1�$�

�
×�=�?�
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�
L ���¬�
�R��&�&� de� �5����^B� #� ���M

� �c�£�8�&� �
�
E� �2�êZ� ��� �&��� �1�$��� �

: �-�g�����÷ d{�
	
Ú�=�

	

���$�1�1�>� �t� �Õ� ����� �c�£������

� �t� �Õ� ���� 
	

�+� �c���

	

���$�1�1�>��÷ d{�

	
Ú   

µ � �c� 	 � �c� ���
� �o 

�
��N�

�
Ü¼ �/�Á� �< � � ���

�
1�$  �c�V�1����8� 	³� �«�8�J���1���×�£Zpoint 

out� �K�g�
: � �u� ���1� ���1�8��g�Ä�5� ���w�Î�=���� d{� �t  

µ� �< �� ���
�
1�$ �̧��� d{� �

�
Þ  

¿���ì� £©�� ���
� �o�µ� �&� �5��1��9�1� '��¬� '�� � � 	­��� ��  

µ� �
� �
ª��� �Î�$� � �s� � �Ï��� �9��� ��¼�+���$� ���

� �o8�!� ^Ù�Á� � �
�
ê � �� d�point�V�9� �

�
�� ����� �7� �x� �< � � ���

�
1�$� �>

� �K�9
�
�_  

µ � �c� 	 � �c� ���
� �o� d{�����9�t��x� �< �� ���

�
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�
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�
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�
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�
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�
1�$� d{�

�
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÷
�
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�
dÏ� �5  

¿���ì� £©�� ���
� �o�µ� �&� �5�&�d��$� �1�$��� � dÎ�
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�
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�
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�
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�
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�
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�
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:
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�
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�
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�
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µ � �c� 	 � �c� ���
� �o� �Q���1� � �»�j� dø� �Õ��� � �2� �R� �g� ������ �É���$�� � dÎ�
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 �/�Á��v� �R��� �������� �7�V�1�"�M  

µ� � �ø� �9�Â� �
:
Í�1��� ���

� �o� �É� ��� �c¼ � �c� 	 � �c� ���
� �o��� ����9�r �

�
�� ��� '�� � �Ñ��

�
�� �d��1��� �5� � ���g� ������

 �R�a�� ����9���9�1���
�
(� ������ �&��"Ô���� ���
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L�8�!� ^Ù�Á�� ���

� �Û� �̀ ���
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�
(�� �Ï��� �9����

�
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�
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�
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�
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�
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�
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�
Í��� ���� ���9�  

µ � �c� 	 � �c� ���
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�
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�
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:
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�
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�
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�
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�
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�
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�
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�
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�
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�

Ä� ���ô�̂
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�
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�
è 
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�
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µ � �c� 	 � �c� ���
� �o �̧�� �/�Á�� �̀!   

µ� � �̀ �q� �
�
Ò ���?�;�9� �7�� ���g� ������ � ���!� ^ë
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� �o��� � dA� �5
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No.PAP-Legis-1(111)/2006/885. Dated 24
th
 November, 2006. The 

following Order, made by the Governor of the Punjab, is hereby 

published for general information:- 

In exercise of the powers conferred on me under Article 

109 of the Constitution of Islamic Republic of Pakistan, 

I, Lt. Gen. (Retd) Khalid Maqbool, Governor of the 

Punjab hereby prorogue the 27th Session of the 

Provincial Assembly of the Punjab with immediate 

effect. 

 

Dated Lahore, the    LT. GEN. (RETD) KHALID MAQBOOL 

24
th
 November, 2006            GOVERNOR OF THE PUNJAB” 

 


